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73K T=H|SHHA

o THISIHM FHE 228 232 & §IXT HF Bt d24E= 222 ZTH|SHK| XS LICH

© geospatil operator
© cursor collation
o =0k UKL= O M E ZHISHA| %S LI
O comparision operator
© logical operator
o O AHLC| FHQ A= F2 F2 22 2FHUAM LR = B2 = Y AS LI
o cursor method
o array ZM
o NNEH ERAHE

Find

Find & AEX}

find M2 E HO|
db.collection( query, projection )

LR 27

| 25 | operators | | query | H|1, =2, R, B7, |, H|E | | projection | projection ($, $elemMatch, $meta,
$slice) | | Miscellaneous | Miscellaneous ($comment, $rand) |

H| I (Comparison) At}

op desc

$eq equal, =

$gt  greaterThan, >

$gte  greaterThanEqual, >=

$in in

$lte  lessTheanEqual, <=

$ne  notEqual

$nin  notln
=2|(Logical) ¢ AHXt

op desc
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op desc

$and and

$not  not and

$nor notor

$or or
21 A (Element) S AKX}

op desc

$exists K| = HET EXSH=X]

Stype KIS type O] WEZ JHFI CRHE
™ 7t(Evaluation) & AHXE

op desc

$expr F2[0fl aggregation E¥Al S AHES = QULCE

$jsonSchema  FO{Zl JSON A7|0t2| F=d2 HIt

$mod

$regex BrarAAL =2 0jES AL ot}

$where javascript B4 2 2 0|83t OfH S A= otCt.
$expr O H|

let discountedPrice = {
$cond: {
if: { $gte: ["$qty”, I3}
then: { $multiply: ["$price"”, NumberDecimal("©.50")] },
else: { $multiply: ["$price”, NumberDecimal("©.75")] }

}s

db.supplies.find( { $expr: { $1t:[ discountedPrice, NumberDecimal("5") ] } })

$jsonSchema O X

validator: {
$jsonSchema: {
bsonType: "object",
required: [ "name", "year", "major", "address" ],
properties: {
name: {
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bsonType: "string",
description: "must be a string and is required"

}J
year: {
bsonType: "int",
minimum: 2017,
maximum: 3017,
description: "must be an integer in [ 2017, 3017 ] and is required"
}J
major: {
enum: [ "Math", "English", "Computer Science", "History", null ],
description: "can only be one of the enum values and is required"
¥
gpa: {
bsonType: [ "double" ],
description: "must be a double if the field exists"”
}J
address: {
bsonType: "object",
required: [ "city" ],
properties: {
street: {
bsonType: "string",
description: "must be a string if the field exists"”
s
city: {
bsonType: "string",
"description"”: "must be a string and is required"
¥
}
¥

}
1)

db.students.insert({
name: "Alice",
year: NumberInt(2019),
major: "History",
gpa: NumberInt(3), // gpa © double Tf B2 = ooz @8

address: {
city: "NYC",
street: "33rd Street"
}
})
// Bt
WriteResult({
"nInserted" : O,
"writeError" : {
"code" : 121,
"errmsg" : "Document failed validation"
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}
}
$mod Ol X
{ "_id" : 1, "item" : "abcl23", "qty" : 0 }
{ "_id" : 2, "item" : "xyz123", "qty" : 5 }
{ "_id" : 3, "item" : "ijk123", "qty" : 12 }

// qty € 42 LHF1 LIHX|7t e 2 32& H=C.
db.inventory.find( { qty: { $mod: [ 4, © ] } } )

{ "_id" : 1, "item" : "abc123", "qty" : 0 }
{ "_id" : 3, "item" : "ijk123", "qty" : 12 }
$regex O A

* MongoDB use Perl compatible regular expressions (i.e. “PCRE" ) version 8.42 with UTF-8 support.
o« DABXIE FEOH YA Z2 TEO| T3 QAT QOB HYM AL #EC

// $in StO|M+E= javascript regex Tt AM27ts SICt.
{ name: { $in: [ /~acme/i, /”~ack/ ] } }

//, 2 75t 542 HACHE AHEY 5+ UL,

{ name: { $regex: /acme.*corp/, $options: 'i', $nin

// PCRE vs JavaScript PCRE & %A= ZAE=E HBG|OF SICt,
{ name: { $regex: '(?i)a(?-i)cme"' } }

// 4.0.6 ealrier O|ME= regex XA T AHE 7ts
db.inventory.find( { item: { $not: /"p.*/ } } )

// 4.0.7 BEE $not & AMEE = QUCt.
db.inventory.find( { item: { $not: { $regex: ""p.*" }
db.inventory.find( { item: { $not: { $regex: /~p.*/ }

$text 04| A|

// text index Md (HAE ZHAMZ 2|gh
db.product.createIndex( { p_text: "text" } )

// $text operator : text index
// $search field : Y= EXL
// "boot " 7 HEgrE

> db.product.find( { $text : { $search : "boot " } } ).pretty()

// velcro B2 belts 7| Z&tE

> db.product.find( { $text : { $search : "velcro belts" } } ).pretty()

// "velcro belts" 7t E3tEl

> db.product.find( { $text : { $search : "\"velcro belts\"" } } ).pretty()
// boot = ZESE[X[Zt velcro = ZEYEIX] Y=

=2
=

THE Toof ofs AMS Sy
7-

At

=L
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> db.product.find( { $text : { $search : "boot -velcro" } } ).pretty()
// bicycles 7t ZBtE
// { $meta : "textScore" } ZTTY F=
> db.product.find(

{ $text : { $search : "bicycles" } },
{ score : { $meta : "textScore" } }
).pretty()
$where Of| K|

* mongodb KA K| SSH= native operator 2 S| 2T = A ST ALE
* mongod 0| Al securityjavascriptEnabled & 243} $HCt
* mongos Ol A security javascriptEnabled £ 243} $tCt,
o QIEIAZ ALEY &= QlCh
o d& S AUdH $where O SHEE|X| = 22 49 2fEolM 02| 2HSFH =
* nested CHFHEO| = ALEE = QICH
o T Bi=F ALESHH QHEICE
db.players.insertMany([

{ _id: , hame: "Steve", username: "steveisawesome", first_login: "2017-01-
o1" },

{ _id: 2, name: "Anya", username: "anya", first_login: "2001-02-02" }
D
db.players.find( { $where: function() {

return (hex_md5(this.name) == "9b53e667f30cd329dcalec9e6a83e994")
} 1)
{

"id" 2,

Ilnamell : llAnyall)

"username" : "anya",

"first_login" : "2001-02-02"
¥

X|2|] &7ZHGeospatial) & ALK}

op desc

$geolntersects  GeoJSON geometry Zt2| WX}E|= geometry & T3HCL

$geoWithin GeoJSON geometry HE| L 2| geometry & T3tCt.
$near point Off 27X 3t geospatial Zi K|S FBHCL.
$nearSphere sphere 0| 283t geospatial 24| S T BHCt,

Hi & (Array) A AKX}
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op desc

$all H2|of BAE 2E

element & £

&t5HE array S OB

.

$elemMatch  HA|Zl element & X85

l= array 2EQ| CHRHE S PoiCL

$size X8E 2712| array EEE 7H8l CHRHEE FotrCt
$all O A|
{tags: [ "school", "book", "bag", "headphone", "appliance" ]}
{tags: [ "appliance", "school", "book" ]}
{tags: [ "school", "book" ]}
{tags: [ "electronics", "school" ]}
/1 X8t 390 E B5F ZSt= array & HAMOHL.
db.inventory.find( { tags: { $all: [ "appliance", "school", "book" ] } } )
{tags: [ "school", "book", "bag", "headphone", "appliance" ]}
{tags: [ "appliance", "school", "book" ]}
$elemMatch Of| X
{ "_id": 1, "results": [ { "product": "abc", "score": 10 },
{ "product": "xyz", "score": 5 } ] },
{ "_id": 2, "results": [ { "product": "abc", "score": 8 },
{ "product": "xyz", "score": 7 } ] },
{ " _id": 3, "results": [ { "product": "abc", "score": 7 },
{ "product": "xyz", "score": 8 } ] },
{ "_id": 4, "results": [ { "product": "abc", "score": 7 },
{ "product": "def", "score": 8 } ] }
db.survey.find(
{ results: { $elemMatch: { product: "xyz", score: { $gte: 8 } } } }
)
{ "_id" : 3, "results" [ { "product" "abc", "score" : 7 },
{ "product" : "xyz", "score" : 8 } ]}

$all O M HECS| Z£80[ OF

$size 04| X|

o
Ea ==l

db.collection.find( { field: { $size:

H| E (Bitwise) & AHX}

op desc

2} 1});
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op desc

$bitsAllClear  X|H &l position 2| HIEZt 0 Q1 A S &=Lt

$bitsAllSet X|E &l position 2| HIEZ} 1 Q1 A4S &=Lt

$bitsAnyClear  X|H &l position 2| H|E7t L& 2t

$bitsAnySet X8 E position o| H{EZt Y22}

| 35XO2 signbit £ 0 0]0{OF $HC}. singed int64 2 EEE|X| o= 2k

N
mjo
b
ull
mn
Rl
&2
rir
i

$bitsAllClear O K|

db.collection.save({ _id:
db.collection.save({ _id:
db.collection.save({ _id:
db.collection.save({ _id:

: 54, binaryValueofA: "00110110" })

: 20, binaryValueofA: "00010100" })

: 20.0, binaryValueofA: "00010100" })

: BinData(®, "Zg=="), binaryValueofA: "01100110" })

- -

A W N R
-
0 0 O O

-

// bit position array

/] RLEZ BH AXSIO o8 H A|&SH= position @2 array £ I
// ST position 2| bit 0| o QI S A=C},

// 5 1

// 00010100

db.collection.find( { a: { $bitsAllClear: [ 1, 51 } } )

{ " _id" : 2, "a" : 20, "binaryValueofA" : "00010100" }
{ "_id" : 3, "a" : 20, "binaryValueofA" : "00010100" }

// Integer Bitmask

// position & 2= YHSt= L4

// 35 -> ee1ee0011 & 0,1,5 HWM7| 0@l S X
// 5 10

// 00010100

db.collection.find( { a: { $bitsAllClear: 35 } } )

Ct.

rr

{ " _id" : 2, "a" : 20, "binaryValueofA" : "00010100" }
{ " id" : 3, "a" : 20, "binaryValueofA" : "00010100" }

// BinData Bitmask

// > help misc

// b = new BinData(subtype,base64str) create a BSON BinData value
// BinData(@, "ID==") -> 0010100

// 3 position O @ O] Ofl 19 gt5 #3222

db.bit.find( { a: { $bitsAllClear: BinData(®, "ID==") } } )

{ "_id" : 2, "a" : 20, "binaryValueofA" : "00010100" }
{ " _id" : 3, "a" : 20, "binaryValueofA" : "00010100" }
$bitsAliSet Of| K|
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// $bitsAllSet: [ 1, 5 ] 00100010

// 54 00110110

// BinData 01100110

db.collection.find( { a: { $bitsAllSet: [ 1, 51 } } )

{ " id" : 1, "a" : 54, "binaryValueofA" : "00110110" }

{ "_id" : 4, "a" : BinData(®©,"Zg=="), "binaryValueofA" : "©1100110" }

$bitsAnyClear Of| K|

// 35 00100011
// 54 volle110
// 20 00010100

// 20.0 00010100
// bindata 01100110
db.collection.find( { a: { $bitsAnyClear: 35 } } )

{ " _id" : 1, "a" : 54, "binaryValueofA" : "00110110" }

{ " id" : 2, "a" : 20, "binaryValueofA" : "00010100" }

{ "_id" : 3, "a" : 20.0, "binaryValueofA" : "00010100" }

{ " _id" : 4, "a" : BinData(9,"Zg=="), "binaryValueofA" : "©1100110" }

$bitsAnyClear Of| K|

// $bitsAllSet: [ 1, 5 ] 00100010

// 54 00110110

// BinData 01100110

db.collection.find( { a: { $bitsAnySet: [ 1, 5] } } )

{ " id" : 1, "a" : 54, "binaryValueofA" : "00110110" }

{ "_id" : 4, "a" : BinData(®©,"Zg=="), "binaryValueofA" : "©1100110" }

projection ¢ AKX}

op desc

$

FHelof A &= array o] AEHM 245 FHICL

$elemMatch 2|0 D& E|= CFHRHE O A $elemMatch Of D& &= array AT 245 S HiCt,

$meta $text A4t S 2 CHRUEQ| HEd F+=E Tt
$slice array 0| M £ FE 2240 HoHS otCt
$ Ol K

{ "_id" : 1, "semester" : 1, "grades" : [ 70, 87, 90 ] }
{ "_id" : 2, "semester" : 1, "grades" : [ 90, 88, 92 ] }
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{ "_id" : 3, "semester" : 1, "grades" : [ 85, 100, 90 ] }
{ "_id" : 4, "semester" : 2, "grades" : [ 79, 85, 80 ] }
{ " _id" : 5, "semester" : 2, "grades" : [ 88, 88, 92 ] }
{ "_id" : 6, "semester" : 2, "grades" : [ 95, 90, 96 ] }

db.students.find( { semester: 1, grades: { $gte: 85 } },
{ "grades.$": 1 } )

00
N

{ "_id" : 1, "grades"
{ "_id" : 2, "grades"
{ " _id" : 3, "grades"

| B e B s |
0 O
Ul o
— e d
e

$elemMatch O K|

{
_id: 1,
zipcode: "63109",
students: [
{ name: "john", school: 102, age: 10 },
{ name: "jess", school: 102, age: 11 },
{ name: "jeff", school: 108, age: 15 }

}
{
_id: 2,
zipcode: "63110",
students: [
{ name: "ajax", school: 100, age: 7 },
{ name: "achilles", school: 100, age: 8 },

}
{
_id: 3,
zipcode: "63109",
students: [
{ name: "ajax", school: 100, age: 7 },
{ name: "achilles", school: 100, age: 8 },

}
{
_id: 4,
zipcode: "63109",
students: [
{ name: "barney", school: 102, age: 7 },
{ name: "ruth", school: 102, age: 16 },

}

db.schools.find( { zipcode: "63109" },
{ students: { $elemMatch: { school: 102, age: { $gt: 10} } } } )

// FHE[EHO| UFSt=E CHFHE F0| g$elemMatch A E= array & AEHRTH MEREICE,
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{ "_id" : 1, "students" : [ { "name" : "jess", "school" : 102, "age" : 11 } ] }

{ "_id" : 3}

{ " id" : 4, "students" : [ { "name" : "ruth", "school" : 102, "age" : 16 } ] }
$meta Of| K|

Ofx olsf =gt
$slice Of| A|

db.posts.insertMany ([
{
_id: 1,
title: "Bagels are not croissants.”,
comments: [ { comment: "@. true" }, { comment: "1. croissants aren't
bagels."} 1]
¥
{
_id: 2,
title: "Coffee please.”,
comments: [ { comment: "©. fooey" }, { comment: "1. tea please" }, { comment:
"2. iced coffee" }, { comment: "3. cappuccino" }, { comment: "4. whatever" } ]

}
D

db.posts.find( {}, { comments: { $slice: 3 } } )

{
"oid" : o1,
"title" : "Bagels are not croissants.",
"comments" : [ { "comment" : "O@. true" }, { "comment” : "1. croissants aren't
bagels." } ]
}
// comments 2| element = 57§ O|X|Zt 37{7tX|2t Lt2LCt,
{
"oid" i 2,
"title" : "Coffee please.",
"comments" : [ { "comment" : "@. fooey" }, { "comment" : "1. tea please" }, {
"comment” : "2. iced coffee" } ]
}

7|EHMiscellaneous) & 4FAE

op desc

$comment FHI|O] =2 FH 5= ULk

$rand 0~ 1 (2HEY randome ot =& d-JHCt.
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$comment Of| X|

db.records.find(
{
x: { $mod: [ 2, 6 ] },
$comment: "Find even values."

// database profiler enable, system.profile collectin

{
"op" : "query",

ns" : "test.records",
"command" : {

"find" : "records",
"filter" : {
"x" o {
"$mod" : [
2,
0
]
bs
"$comment” : "Find even values."
s
"comment" : "Find even values.",

// profilling level 2, slow ©
// db.setProfilinglLevel(2, 0)
// log 0= H&

{"t":{"$date":"2020-09-17T11:32:20.415-07:00"},"s":"I",
"c":"COMMAND", "id":51803, "ctx":"conn7","msg":"Slow query",
"attr":{"type":"command","ns":"test.records", "appName" : "MongoDB
Shell","command":{"find":"records","filter" :{"x":{"$mod":[2.0,0.0]},

"$comment”:"Find even values."},"comment":"Find even values."

Cursor

FHMo| 2M gl oy

- X OO

Collation
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cursor Ptete| = HIO|HO| & 7|&ES A == UL
filed type desc
local string The ICU locale., ko (korean)
strength integer  H| ¥ M7 ICU Comparison Levels & 11
caselevel boolean
caseFirst string

numericOrdering  boolean

alternate string
maxVariable string
backwards boolean
normalization boolean

Read Concern

read concern 2 client 7} replica set -2 sharded cluster Of CH3l H|O|E| 22HY0)| CH &2 Holg = U
Ct.

level desc

local HOIH E Hhet 2SI replica set 2| A0 7| E&| J=AS HHSHX| &=Lt

available local 2t SLSILE ALY 22{AHU M E 22 &l collection Off Cis L2tH S 2 &SHX| Q=L
majority HOIH E et 22 [f replica set o 0|49 SEE /UL A2 HATHCL

linearizable  majority@t FAFSEK| Bt replica set 2| Cha= B 7t 2t 10| &L 7HX| 7|Ch2ICEH

snapshot ?7?

operation 22 X| & | = read concern 2|8 0| Ct2EE 2 I 7 Y2 & 106}{OF BHC}. causally consistent

sessions. 7?7

Read Preference

mongodb client 7} repica set & L& 2 2 read A2 O{E A 2tRE S X|E A7 dt= 7| 50|C} Read
Preference = mode £ H|O|AZ Of2f M7He| M| g2 T += ULt

* tag set
* MaxStalenessSeconds
* hedged read

Read Preference Mode

Read Preference

Desc
Mode

12/16



study-7.md 3/4/2021

Read Preference

Desc
Mode
. default, 2 A4S primary O 2 8SHCE, 97| A2 2 EBHSH multi-document
rimar
P Y trasaction 2 primary S At-25}i0F SHCt,
primaryPreferred 7t& 3t primary Ol 2735 27t B secondary 0 2 HotCt,
secondary BE HAS secondary O 24 stCt.
753t secondary Off RH8tH 7+5%t secondary B 7t 9= A primary O 28
secondaryPreferred
ShCE
EFROf| A 210] latency 7t B2 HH O 2 SHCE localThresholdMS & 7| &2 2 H
nearest .
=g
tag set

replica set LAl "members[n].tags" & H St ACHH read preference HA M HHE &2 tag E 0|8
ENy Tt
AN .

// tag H value = 25 EXL0|0{0F BFCE,
[ { "<tagl>": "<stringl>", "<tag2>": "<string2>",... },
// ClIH
[ { "region": "South", "datacenter": "A" }, { "rack": "rack-1" }, { } 1]
// Order of Tag Matching
{ "region": "South", "datacenter": "A" } E 4 XNTHUHE
282 42 { "rack": "rack-1" }
{} © BE element 2 Mot HHE ZX| X

[—

plas
rr

Ct.

rok

A9 QES WXBI|YIsH AR,

=

—

tag set 2 Read Preference Modes 2 E FO0f|A{ primary O M= 8% 4= QICt 2%l secondary & MEE 5
A= mode O M TF ALE 7ts StCE.

AR7tsS nE

—

® primaryPreferred
* secondary
* secondaryPreferred

® nearest

maxStalenessSeconds

secondary S 0| A X &l A7k O] &2 2 replication lag O X|HEtS
A L=

ES
7 317| g SHOIL} Bt M7 L HEE FO SO Tddt= 8%

tSHE HHE read preference Of| A |
S| |

—

NI B E

—_

® primaryPreferred
* secondary
* secondaryPreferred
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® nearest

Hedged Read Option

mongodb 4.4 sharded cluster 0| M £ E{ X| &IStH primary & K| 2|3t read preference 0| A AHE Z7HsSLCE,
hedged read &2 A3t mongos & shard Ofl Ci gt replica set @H F70 & X["J3H A SAI0| 2= SHA|
Tl A =AoE At S AFESHA SHA| ElCE

hedged read & X| & 5t= HAFA}

collStats
* count

dataSize
dbStats
distinct
filemd5

¢ find
listCollections

listindexes

planCachelistFilters
ARIISS B E

® primaryPreferred
* secondary

* secondaryPreferred
® nearest

read preference At2 &

# replica set myRepl

# mode secondary

# maxStalenessSeconds 120

# tag set { "region": "South", "datacenter": "A" }

mongodb://svl,sv2,sv3/?
replicaSet=myRepl&readPreference=secondary&maxStalenessSeconds=120&readPreferenceT
ags=region:South&readPreferenceTags=datacenter:A

hedged read = api € S Mt M S El= X SHEf

comment

cursor 2 E3 comment ZEZE =7}t 4= UL}

// comment E FA|SIH
db.restaurants.find(
{ "borough" : "Manhattan" }
).comment( "Find all Manhattan restaurants” )
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// system.profile

{
"op" : "query",
"ns" : "guidebook.restaurant”,
"query" : {
"find" : "restaurant",
"filter" : {
"borough" : "Manhattan"
Ts
"comment" : "Find all Manhattan restaurants”
s
}

// mongod log
2015-11-23T13:09:16.202-05:00 I COMMAND [connil]
command guidebook.restaurant command: find {
find: "restaurant”,
filter: { "borough" : "Manhattan" },
comment: "Find all Manhattan restaurants”

// db.currentOp()
db.restaurants.find(

{ "borough" : "Manhattan" }
).comment("Find all Manhattan restaurants")

{
"inprog" : [
{
"host" : "198.51.100.1:27017",
"desc" : "conn3",
"connectionId" : 3,
"op" : "query",
"ns" : "test.$cmd",
"command" : {
"find" : "restaurants",
"filter" : {
"borough" : "Manhattan"
}J
"comment" : "Find all Manhattan restaurants”,
"$db" : "test"
}J
"numYields" : 0,
¥
1,
"ok" : 1
¥
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FindAndModify

FindAndModify
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